

$$1) C_X(t, z)$$

$$= E(X(r, \omega) X(r-z, \omega)) = E(A(\omega) \sin(2\pi f_0 r + \phi(\omega)) \cdot A(\omega) \sin(2\pi f_0(r-z) + \phi(\omega)))$$

$$= \underbrace{E(A^2(\omega))}_{\sigma^2} \cdot E(\sin(2\pi f_0 r + \phi(\omega)) \sin(2\pi f_0(r-z) + \phi(\omega)))$$

$$= \sigma^2 \cdot \frac{1}{2} \cdot E(\underbrace{\cos(2\pi f_0 z)}_{\text{Independent of } \omega} - \cos(2\pi f_0(2r-z) + 2\phi))$$

Independent of ω
deterministic

$$= \sigma^2 \cdot \frac{1}{2} \cos(2\pi f_0 z) - \frac{\sigma^2}{2} E(\cos(2\pi f_0(2r-z) + 2\phi))$$

$$\textcircled{*} = -\frac{\sigma^2}{2} \int_0^{2\pi} \cos(2\pi f_0(2r-z) + 2\phi) \cdot \frac{1}{2\pi} d\phi$$

$$= -\frac{\sigma^2}{2} \frac{1}{2\pi} \left[\frac{1}{2} \sin(2\pi f_0(2r-z) + 2\phi) \right]_0^{2\pi}$$

$$= \frac{\sigma^2}{4\pi} \frac{1}{2} [\sin(2\pi f_0(2r-z) + 4\pi) - \sin(2\pi f_0(2r-z))] = 0$$

$$C_X(t, z) = \frac{\sigma^2}{2}$$